log AL luminance difference | _
threshold Lg=6.3cdinf
X y
A 0,34 040 ya1a g P-A3-fit

Y 045 0,47 Ap 265 AgY
OIS G average

0,58 0,32
0,25 0,44

log AL luminance difference | _
threshold Lg=6.3cd/n?
Xy

A 034 0,40 a1 g p-A3-it

L Y 045 047 Ap 265 AgB
Us @l average

0,58 0,32
0,25 0,44

log AL luminance difference | __
threshold Lg=6.3cd/n?

3 X y
A 034 0,40 a1a & P-A3-fit

4 Y 045 047 Ap o6s AR
015 019 Lyerans

0,58 0,32
0,25 0,44

log AL luminance difference | _
threshold Lg=6.3cd/n?
X y
A 0,34 040 415 g P-A3-fit

L Y 045 047 Ap 265 ASG
015 019 pyerac

0,58 0,32
0,25 0,44

TE660-7N_1
TE660-7N

log AL luminance difference | _
threshold Lg=6.3cd/n?
x oy

A 034 040 a5 g p-A3-pe-fit

Y 045 0,47 ap 265 AY
015 019 pyerace

0,58 0,32
0,25

TE660-2N_1
log AL luminance difference | _
threshold Lg=6.3cd/n?
2 X oy
A 034 0,40 a5 g P-A3-pe-fit

14 Y 045 047 Ap 265 A&B
Us O average

0,58 0,32
0,25 0,44

log AL luminance difference | _
threshold Lg=6.3cd/n?
x oy

A 034 040 a5 g P-A3-pe-fit

L Y 045 047 ap 265 AGR
0.15 019 merage

0,58 0,32
0,25 0,44

TE660-6N_1
log AL luminance difference | _
threshold Lg=6.3cd/n?
x oy
A B WA data & P-A3-pc—fit

L Y 045 047 ap 265 &G
015 019 pyerace

0,58 0,32
0,25 0,44

TE660-8N_1

log AL luminance difference | _
threshold Lg=6.3cd/n?
x oy

A 034 040 515 g p-A3-fit

Y 045 0,47 yp oes ARY
OIS O average

0,58 0,32
025 0,44

TE661-1N_1
log AL luminance difference | _
threshold Lg=6.3cd/n?
x oy
A 034 040 a1 & P-A3-fit

L Y 045 047 pg p65 AgB
O Gl average

0,58 0,32
0,25 0,44

TE661-3N_L
log AL luminance difference | _
threshold Lg=6.3cd/n?
2 X oy
A 034 040 a3 & P-A3-fit

14 Y 045 047 gy 265 AgR
0.15 019 qyerage

0,58 0,32
0,44

TE661-5N_1
log AL luminance difference | _
threshold Lg=6.3cd/n?
2 X oy
A 0,34 040 yain & P-A3fit

14 Y 045 047 Ap 265 ARG
0,15 019 serage

0,58 0,32
0,25 0,44

TE661-7N_1

log AL luminance difference =
threshold L g=6,3cd/nf
X oy

A 034 040 a5 g P-A3-pc-fit

Y 045 0,47 yp oes AQY
Ui @1 average

0,58 0,32
0,25

TE661-2N_1
log AL luminance difference =
threshold L g=6,3cd/nf
2 X oy
A 034 040 a5 g p-A3-pc-fit

14 Y 045 047 pg oes pgB
US> G average

0,58 0,32
0,25 0,44

log AL luminance difference =
threshold L g=6.3cd/nf
X oy

A 034 040 yata g P-A3-pc-fit

L Y 045 047 gy 265 AR
Uil @K average

0,58 0,32
0,25 0,44

TE661-6N_1
log AL luminance difference =
threshold L g=6.3cd/nf
X oy
A 034 040 a5 & P-A3-pc-fit

L Y 045 047 aAp 265 ARG
Uiks Ol average

0,58 0,32
0,25 0,44

TE661-8N_1




